


PRIMARY MATH OLYMPIAD
1. 	Divide K80, 100 in the ratio 5 to 3 to 1.
2. 	Which number should be in the box in the sequence? 
a. 1,  4, 9,        , 25
3. 	The statement n(A) mean...............................
4. 	What must be added to 90, 867 to make 212, 016
5. 	The sum of the numbers is 4, 444 two of numbers are   404 and 44. What is the third number?
6. 	Which digit in 91, 195 has the least value?

SECTION B
1]	

                        -4     -3   -2    -1     0     1     2      3
	What does the number line say?
2]	  - 
3]	Find the area of the shaded region in the diagram below.
 (
                            2
)                                                 5                   
                                               2m2         
                         6                 \

                                             11 




